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5.4 Multiple Angle Identities

Double Angle

SIn 2x = 281N X COS X

2 tan
an 2= 2%
l-tan” x
cos2x =Ccos> x —sin’ x
=2cos*x—1
=1-2sin*x

Power Reducing:

5 1+cos2x
COS” X =
2

. 1-cos2x
SIn” X =

1+cos2x
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Sin X
cosx—+ l1+cosx -7
2 —1/ 5 1+ cosx

Half Angle
sin = = + I-cosx tanfzi\/l_cﬂ
2 2 2 1+ cosx
_1—cosx
Sin x

Use the half angle identities to find the exact value without a
calculator

sinl5”




January 13, 2013

; 2 )
Prove: (sm X + COS x) =1+sin2x

2tan .
* - sin 2x

1 +tan® x
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Solve the equation:

sin2x+cosx =90

Use the power reducing formula o reduce:

cos” x
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Use the power reducing formula to reduce:




